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Let S: by square of side ‘a’ another
square is formed by joining the mid-
points of S;. The same process is
applied to Sz to form yet another square
S3; and so on. If A;, A2, As... be the area

&S Fi, P, Paiion be the perimeter of
S1,52,93..... respectively, then the ratio
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The area of the square MNOP is 64. Let
A, B and C be the mid-point of NO, OP

and PM. If D is any point inside the
-:%gh MNOP and if ‘x’ is the area of

ADPB then area lies between ?

g7l MNOP &T &3%d 64 2, A, B3lIX C 7y
f§g 2 NO, OP 3R PM @& D &l3 fag @
3TId MNOP ¥ 3R 37X ADPB &1 &3%d
‘g, da =1 4 9 Fr ud 27 @

@) 12¢x<16 4 8<x<16
(c) 4<x< 8 (d) 8<x<12




e, In the given figure, ABC is a right angle
triangle at B, D is a point on AC such
Y that DC = 8, AD = 34 and BD = 17, find
the area of shaded region?
fer v & 4, ABC t& waaIvr B 2
el B ¥H®IT & AC ol W} Us fdg D 59
y&»R & f& DC = 8, AD = 34 3ilR BD = 17
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(a) 84 cm? D (,(‘(67 7 cmz

(c) 59.5 cm? (d) 64 cm?







Find the area of the equilateral triangle
in-scribed in a circle circum scribed by a
square made by ining the mid-points
of the adjacent sides of a square of side
‘a’.
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The area of the rectangle ABCD is 2 and
BD = DE. Find the area of the shaded

region.
3Mgd ABCD &1 &3%d 2 Jfic @ BD = DE
BRATThd AT &1 @ABd ATd B




Based on the figure below, what is the
value of x, if y = 10?
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Find the area of the figure ABCDEFG in
which ABCG is a rectangular AB = 3 cm,
BC=5,GF =2.5cm =DE=CF,CD = 3.5
cm, EF = 4.5 cm & CD| | EF.

feuv v g3 ¥ ABCDEFG &1 &3%d SITd
$% ABCG ¥l X 3MId © | AB = 3 91, BC
= 5 9Hl, GF = 2.5 44 = DE = CF, CD =
3.5 941, EF = 4.5 44l & CD 31X EF 9d=a%
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(a) 36 cm? (b) 26 cm?

(c) 22 cm? (d) 28 cm?



Two cubes with side (a) are joined by a
cube of side (b) in between (a>b). find
the T.S.A of the figure formed.
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C In the given figure the radius of the

r Y circle is 3-2y2cm then find the
diagonal of the square ABCD.
few v form & g @ B 3-242cem 2,
dl 97 ABCD & fa&vf @ a4 91d &%
(a) 24/2 cm (b) 8 cm

S J2 ecm (d) 4 cm
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The right angle triangle ABC where B =

90° and BDER is square. AE = ?5 cm and
AC = 18 cm. Then find area of AABC.

AABCH B ¥9®%IT & | BDER Udh 47 & AE
—?Scmﬂmac-lscmﬁ?ﬁ o
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(a) 67.861 (b) 56.526 ®
(c) 89.987 ) 76.621



In the given figure ABCD and BEFG are
squares of sides 8 cm and 6 cm
respectively. What is the area (in cm?) of
the shaded region?

<l T3 A&fd #, ABCD a1 BEFG $HH3l: 8
cm T 6 cm ol 9Tl 97 & BTG AN
&1 89A%d (A2 H) 771 2

(a) 12 (b) 14

(c) 10 (d) 16
64-16-3% = (2. (F)




Find the area of AABCif BD = 6 cm, DE

=5 cm and EC = 7 cm and area of AADE
= 40 cm?Z,

feu 17 faa 4 AABC &1 &39%d S1d & dfq
BD=6cm,DE=5cm d2T EC=7cm @
a7 AADE &T &3%d 40 cm2 &l di7?
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\A3) 144 cm? (b) 616 cm?

(c) 255 cm? (d) 150 cm?



h In given diagram AE:ER = 3:2, AF:FC =
1:5 and BD:DC = 4:3, then find ratio of

areas of EFCD to AABC.
feu v = # AE:ER = 3:2, AF:FC = 1:5
d2T BD:DC = 4:3 &, dl EFCD @21 AABC
< @ SABA BT IJUTd ST HR?
A

(a) 45:71 @ (b) 54:72
) 47:70 (d) 50:81
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Find out radius of the semicircle?
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In the adjoining figure, AABCis an acute

angled triangle. While PQ is || to BC, P
B e A divided AB internally in the ratio 5:3.
Such that AP>BP. If QR and BS are
perpendiculars dropped on PC then find

the ratio of area of APQR and ABCS.
feu v o a3 4, AABCU® <A &I

st  PQ, oIl BC & OHId & P, AB &I
%ssa?aﬁumﬁm fqarfora @ar @ afg

AP>BP, QR 3il¥ BS, Hdl PC W STd ¢ &4

2 79 APQR3IX ABCS @ &1 3UTd
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The total surface area of hemisphere is

nearly equal to that of an equilateral

triangle. The side of the triangle is how
many times (approx) of the radius of the

hemisphere.

UH M $1 §d O @a%d (6 GH4Tg
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If the volume of a sphere is 655 cm?

| 25 then its surface area is
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% (a) 77%1::1::12 (b) 76;::1112
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Four solid cubes each of volume 1728
cmg, are kept in two rows having two
cubes in each rows. They form a
rectangular solid with square base. The
total surface area in cm? of the resulting
solid is.

gJA® 1728 cmPIAGT drdl AR Sh o)
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A sphere is placed in a cube so that it
touches all the faces of the cube. If ‘a’ is
the ratio of the volume of the cube to
the volume of the sphere and ‘b’ is the
ratio of the surface area of sphere to the
surface area of the cube then the value
of ab is:

e Mo & f&dl g9 4 39 avg gufis
foar mar 2 f& a8 g9 © 9l wasl &I
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The total surface area of a solid cube is
4.86 m?, It is melted and recast into a
right circular cylinder of radius 0.3 m.
what is the height in (cm) of the

22
cylinder Take n=—

wmmmmmmdtserﬁ"z%
g9 Muaer 0.3 M1 Bar ad &9 g
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(a) 1.8 P2.6

(c) 2.8 (d) 3.5



What is the area (in cm?2) of a circle

circumscribing a triangle whose sides
are 28 cm, 45 cm and 53 cm?

SU qd &1 &9%d dd &0 o e @
uRed & foraa) qore 28 4941, 45 91 3R
53 4t 2 ?




Y3
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The length of a rectangle is three fifth
of the radius of a circle. The radius of

%0

the circle®is equal to the side of square,
whose area is .6;-120 m?2, The perimeter
(in m) of the rectangle. If the breadth is
15 m is.

wmaﬁf—fﬂs‘wqﬁaﬁﬁwaﬁ%%
gd & ear 89 @ @ Hol & e} @

fSa®sr d8a%d 6400 #12 8 Afe smgad &1
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(a) 120 un{ 126

(c) 160 (d) 180



If the perimeter of an isosceles right

triangle is 15(\5 +1) cm, then the area

J2 of the triangle will be.
afe v gufgarg waaivr Bge &1 aRem

\
15(v2 +1)R 2, @ Prpar @1 dwwa @
\ g

? j_ (a) 46.5 cm? (b) 46 cm?

P 6.25 cm? (d) 55 cm
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What is the area of a triangle whose
S-=9 sides measures 5 cm, 6 cm and 7 cm?

5 941, 6 941 R 7 9 qor 9 S a1

#A%d STd B ?

(a) 10.9797 cm?  (b) 12.8484 cm?

(c) 16 4545 cm? \.)d"’“ .6969 cm?
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If one side of triangle is 7 with its
(b perimeter equal to 18 and area is equal

to /108 , then the other two sides are.

1 C afs va s #1 v o 7 @ g9 uRem
18 ® a¥Ia} 2 3R A7%d /108 B aXeN 2,
dl 39 <1 ORIl @ A9 9 & 2

.b [ (a) 6 & S (b) 3.5 & 7.5
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ABCD is a rhombus with each side being
equal to 8 cm. If BD = 10 cm, AC = 2x

cm. what is the value of Vx+10?

ABCD Ud 99aqHdl =, foaad! ycds 9l 8
a2 afe BD = 10 9+, AC = 2/x 4 2,
a Vx+10FT 79 T & ?

(a) 243 (b) 3V2

J4 7 (d) 5
3y = F




